

FEW BEAUTIFUL CHALLENGING FUNCTIONAL EQUATIONS

D.M. BĂȚINEȚU-GIURGIU, MIHÁLY BENCZE, DANIEL SITARU, NECULAI STANCIU - ROMANIA

ABSTRACT. In this paper we present some certain results on functional equations.

Theorem 1. All injective functions $f : \mathbb{R} \rightarrow \mathbb{R}$ which verify $f(0) \neq \frac{1}{b}$ and $f(f(x)y^3) + ax^9y^9 = bf(x^3)f(y^3), \forall x, y \in \mathbb{R}$, where $a > 0, b > 1$ are functions

$$f_1, f_2 : \mathbb{R} \rightarrow \mathbb{R}, f_1(x) = \sqrt{\frac{a}{b-1}} \cdot x^3, f_2(x) = -\sqrt{\frac{a}{b-1}} \cdot x^3.$$

Proof. If $x = y = 0 \Rightarrow f(0) = bf^2(0) \Rightarrow f(0)(bf(0) - 1) = 0$ and since $f(0) \neq \frac{1}{b}$ yields that $f(0) = 0$.

For any $x, y \in \mathbb{R}^*$ by the statement we have $f(f(x)y^3) + ax^9y^9 = bf(x^3)f(y^3), \forall x, y \in \mathbb{R}$ and $f(f(y)x^3) + ay^9x^9 = bf(y^3)f(x^3)$, then $f(f(x)y^3) = f(f(y)x^3), \forall x, y \in \mathbb{R}^*$ thus by injectivity of f we deduce that

$$f(x)y^3 = f(y)x^3 \Leftrightarrow \frac{f(x)}{x^3} = \frac{f(y)}{y^3}, \forall x, y \in \mathbb{R}^*.$$

So, $\frac{f(x)}{x^3} = \frac{f(1)}{1^3} \Rightarrow f(x) = f(1) \cdot x^3, \forall x \in \mathbb{R}^*$ and denoting $c = f(1) \in \mathbb{R}^*$, it results $f(x) = cx^3, \forall x \in \mathbb{R}^*$, so by the statement we obtain

$$f(cx^3y^3) + ax^9y^9 = b \cdot cx^9 \cdot cy^9 \Leftrightarrow c^2x^9y^9 + ax^9y^9 = bc^2x^9y^9 \Leftrightarrow a = c^2(b - c) \Leftrightarrow$$

$$\Leftrightarrow c^2 = \frac{a}{b-1} \Rightarrow c = \pm \sqrt{\frac{a}{b-1}}$$

Hence, we obtain the functions $f_1, f_2 : \mathbb{R} \rightarrow \mathbb{R}, f_1(x) = \sqrt{\frac{a}{b-1}} \cdot x^3,$

$$f_2(x) = -\sqrt{\frac{a}{b-1}} \cdot x^3. \quad \square$$

Theorem 2. Let m be a positive integer number, $a, b, c > 0$ and d a real number. All the functions $f : \mathbb{R} \rightarrow \mathbb{R}$ which verify $af(x) + bf([x]) + cf(\{x\}) = dx^m, \forall x \in \mathbb{R}$ (where we denote $[x]$, the integer part of x , respective with $\{x\}$ the fractional part of x) are the following functions:

$$f(x) = \frac{d}{a} \left(x^m - \frac{b}{a+b} [x]^m - \frac{c}{a+c} \{x\}^m \right)$$

Proof. If $x = 0 \Rightarrow f(0) = 0$.

$$\text{If } x = [x] \Rightarrow af([x]) + bf([x]) + cf(0) = d[x]^m \Rightarrow f([x]) = \frac{d}{a+b} [x]^m, \forall x \in \mathbb{R}$$

$$\text{If } x = \{x\} \Rightarrow af(\{x\}) + bf(0) + cf(\{x\}) = d\{x\}^m \Rightarrow f(\{x\}) = \frac{d}{a+c} \{x\}^m, \forall x \in \mathbb{R}$$

Then, by the statement we have $af(x) + \frac{bd}{a+b} [x]^m + \frac{cd}{a+c} \{x\}^m = dx^m, \forall x \in \mathbb{R}$.

$$\text{Hence } f(x) = \frac{d}{a} \left(x^m - \frac{b}{a+b} [x]^m - \frac{c}{a+c} \{x\}^m \right) \quad \square$$

Theorem 3. All the functions $f : \mathbb{R} \rightarrow \mathbb{R}$ which verify $f(x) + f([x]) + f(\{x\}) = ax^m, \forall x, a \in \mathbb{R}$, and m is a positive integer number (where we denote $[x], \{x\}$ the integer part of x , respective the fractional part of x) are $f(x) = a(x^m - \frac{1}{2}[x]^m - \frac{1}{2}\{x\}^m)$.

Proof. If $x = 0 \Rightarrow f(0) = 0$.

$$\text{If } x = [x] \Rightarrow f([x]) + f([x]) + f(0) = a[x]^m \Rightarrow f([x]) = \frac{a}{2}[x]^m, \forall x \in \mathbb{R}.$$

$$\text{If } x = \{x\} \Rightarrow f(\{x\}) + f(0) + f(\{x\}) = a\{x\}^m \Rightarrow f(\{x\}) = \frac{a}{2}\{x\}^m, \forall x \in \mathbb{R}.$$

Then, by the statement we have $f(x) + \frac{a}{2}([x]^m + \{x\}^m) = ax^m, \forall x \in \mathbb{R}$.

$$\text{Hence, } f(x) = a\left(x^m - \frac{1}{2}[x]^m - \frac{1}{2}\{x\}^m\right). \quad \square$$

Theorem 4. Let $a > 0, b > 1$ and $n \in \mathbb{N}$. All injective functions $f : \mathbb{R} \rightarrow \mathbb{R}, f(0) \neq \frac{1}{b}$ which verify $f(f(x))y^{2n+1} + a(xy)^{(2n+1)^2} = bf(x^{2n+1})f(y^{2n+1}), \forall x, y \in \mathbb{R}$ are the functions

$$f_1, f_2 : \mathbb{R} \rightarrow \mathbb{R}, f_1(x) = \sqrt{\frac{a}{b-1}} \cdot x^{2n+1}, f_2(x) = -\sqrt{\frac{a}{b-1}} \cdot x^{2n+1}$$

Proof. If $x = y = 0 \Rightarrow f(0) = bf^2(0) \Rightarrow f(0)(bf(0) - 1) = 0$ and since $f(0) \neq \frac{1}{b}$, it results $f(0) = 0$.

For any $x, y \in \mathbb{R}^*$ by statement we have:

$$f(f(x)y^{2n+1}) + a(xy)^{(2n+1)^2} = bf(x^{2n+1})f(y^{2n+1}), \forall x, y \in \mathbb{R} \text{ and}$$

$$f(f(y)x^{2n+1}) + a(xy)^{(2n+1)^2} = bf(y^{2n+1})f(x^{2n+1}), \forall x, y \in \mathbb{R} \text{ then}$$

$f(f(x)y^{2n+1}) = f(f(y)x^{2n+1}), \forall x, y \in \mathbb{R}^*$, and by injectivity of f we deduce that

$$f(x)y^{2n+1} = f(y)x^{2n+1} \Leftrightarrow \frac{f(x)}{x^{2n+1}} = \frac{f(y)}{y^{2n+1}}, \forall x, y \in \mathbb{R}^*.$$

So, $\frac{f(x)}{x^{2n+1}} = \frac{f(1)}{1^{2n+1}} \Rightarrow f(x) = f(1) \cdot x^{2n+1}, \forall x \in \mathbb{R}^*$, and if we denote $c = f(1) \in \mathbb{R}^*$, yields $f(x) = cx^{2n+1}, \forall x \in \mathbb{R}^*$, then by the statement we obtain

$$\begin{aligned} f(cx^{2n+1}y^{2n+1}) + a(x^{2n+1}y^{2n+1})^2 &= b \cdot cx^{(2n+1)^2} \cdot cy^{(2n+1)^2} \Leftrightarrow \\ \Leftrightarrow c^2(xy)^{(2n+1)^2} + a(xy)^{(2n+1)^2} &= bc^2(xy)^{(2n+1)^2} \Leftrightarrow a = c^2(b-c) \Leftrightarrow \\ \Leftrightarrow c^2 = \frac{a}{b-1} &\Rightarrow c = \pm\sqrt{\frac{a}{b-1}}. \end{aligned}$$

We obtain the functions:

$$f_1, f_2 : \mathbb{R} \rightarrow \mathbb{R}, f_1(x) = \sqrt{\frac{a}{b-1}} \cdot x^{2n+1}, f_2(x) = -\sqrt{\frac{a}{b-1}} \cdot x^{2n+1}. \quad \square$$

Theorem 5. Let $a > 0, b > 1$ and injective function $f : \mathbb{R} \rightarrow \mathbb{R}$ which verify $f(0) = 0$. All injective functions $g : \mathbb{R} \rightarrow \mathbb{R}, g(0) \neq \frac{1}{b}$ which satisfy:

$$g(g(x)f(y)) + af(x)f(y) = bg(f(x))g(f(y)), \forall x, y \in \mathbb{R}$$

are the functions:

$$g_1, g_2 : \mathbb{R} \rightarrow \mathbb{R}, g_1(x) = \sqrt{\frac{a}{b-1}} \cdot f(x), g_2(x) = -\sqrt{\frac{a}{b-1}} \cdot f(x)$$

Proof. If $x = y = 0$, we have $g(g(0)f(0)) + af(0)f(0) = bg(f(0))g(f(0)) \Leftrightarrow \Leftrightarrow g(0) = bg^2(0) \Leftrightarrow g(0)(b(g(0) - 1) = 0$ and since $g(0) \neq \frac{1}{b}$, it results $g(0) = 0$. For any $x, y \in \mathbb{R}^*$, we have:

$$g(g(x)f(y)) + af(x)f(y) = bg(f(x))g(f(y)), \text{ respectively}$$

$$g(g(x)f(y)) + af(y)f(x) = bg(f(y))g(f(x)), \text{ so } g(g(x)f(y)) = g(g(y)f(x))$$

and taking account that g is injective we deduce that

$$g(x)f(y) = g(y)f(x), \forall x, y \in \mathbb{R}^* \Leftrightarrow \frac{g(x)}{f(x)} = \frac{g(y)}{f(y)}, \forall x, y \in \mathbb{R}.$$

From the last relation, for $y = 1$, we deduce $\frac{g(x)}{f(x)} = \frac{g(1)}{f(1)} = c \in \mathbb{R}^* \Rightarrow g(x) = cf(x), \forall x \in \mathbb{R}^*$; then from the statement we obtain

$$\begin{aligned} g(cf(x)f(y)) + af(x)f(y) &= bc^2f(0)f(y), \forall x, y \in \mathbb{R}^* \Rightarrow a = (b-1)c^2 \Leftrightarrow \\ &\Leftrightarrow c^2 = \frac{a}{b-1} \Rightarrow c = \pm \sqrt{\frac{a}{b-1}}. \end{aligned}$$

We get the functions:

$$g_1, g_2 : \mathbb{R} \rightarrow \mathbb{R}, g_1(x) = \sqrt{\frac{a}{b-1}} \cdot f(x), g_2(x) = -\sqrt{\frac{a}{b-1}} \cdot f(x)$$

□

REFERENCES

- [1] *Octagon Mathematical Magazine*, 2015-2019
- [2] Romanian Mathematical Magazine - Interactive Journal, www.ssmrmh.ro
- [3] Mihály Bencze, Daniel Sitaru, Marian Ursărescu, *Olympic Mathematical Energy*. Studis Publishing House, Iași, 2018.
- [4] Daniel Sitaru, George Apostolopoulos, *The Olympic Mathematical Marathon*. Cartea Românească Publishing House, Pitești, 2018.
- [5] Mihály Bencze, Daniel Sitaru, *Quantum Mathematical Power*. Studis Publishing House, Iași, 2018.
- [6] Daniel Sitaru, Marian Ursărescu, *Calculus Marathon*. Studis Publishing House, Iași, 2018.
- [7] Daniel Sitaru, Mihály Bencze, *699 Olympic Mathematical Challenges*. Studis Publishing House, Iași, 2017.
- [8] Daniel Sitaru, Marian Ursărescu, *Ice Math-Contests Problems*. Studis Publishing House, Iași, 2019.
- [9] Mihály Bencze, Daniel Sitaru, Marian Ursărescu, *Olympic Mathematical Beauties*, Studis Publishing House, Iași, 2020.
- [10] Daniel Sitaru, *Math Phenomenon Reloaded*, Studis Publishing House, Iași, 2020.
- [11] Daniel Sitaru, Marian Ursărescu, *Olympiad Problems - Algebra - Volume I, II* Studis Publishing House, Iași, 2020.

MATHEMATICS DEPARTMENT, NATIONAL ECONOMIC COLLEGE "THEODOR COSTESCU", DROBETA
TURNU - SEVERIN, ROMANIA
Email address: dansitaru63@yahoo.com